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Budget Constraint

The consumer faces two constraints-

1-Income is limited

2-He has to pay prices for the commodities

 Given the budget constraint, the consumer
would be in equilibrium where the budget
line is tangent to the highest possible IC



Budget Line equation 



Budget Line



Slope of the Budget Line

The slope of the budget line is equal

to the ratio of the prices of two goods.

AB price line is OA/OB

What will happened if either priceWhat will happened if either price

of the good will change or the income

changes?



Change budget line due to 
change in price of good X



Change budget line due to 
change in price of good Y



Change budget line due to 
changes in Income



Consumer equilibrium 



Consumer equilibrium 



Consumer equilibrium 

IC must be convex at tangent point
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